Ch E 150A, Spring 2006
Midterm 1 Solutions
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3. (20 points)
a) Equation K on the equations sheet attached to this exam describes the conservation of some quantity.
Name the quantity:
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b) Also with regard to equation K, what does F represent (in words)? Be specific.
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¢) What is wy in equation K? What are it’s dimensions?
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d) Inthe movies we waiched in class, we saw fluid contained in a cylinder, with a drop of colored fluid
added. The cylinder was then rotated about it’s axis. Briefly describe what happens to the drop of colored
fluid when the cylinder rotation is stopped at low Re and at high Re.
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e) In the conduit shown below, the velocity is independent of y, but depends on x as indicated. What is the
average velocity (vz>?

v,=lmls for O0<x<l

v,=5mls for l<x<2

v,=2mls for 2<x<4




